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B daEoE MESTME 29
ool URE SE=IMH 2 FUKIE 2 (e9:H3)
SA - BH - SRI(B) - MRAL - BaS Ofl st e HIDS
TEESIEEp]
49,5008 x1CH= 123 594
ORFHIANAY 2 130,000& * 122 1,560
02 S22l 6.064 6,920 2856
Oblag salz 5,500+ 11 A x 122 66
OQIEfY AlEZ 42,0002 %122 504
OYHEIINE 442
77,0003 +7CH+55,0002 « 1CH 594
O#HHESXIME =X 2,900
OgeExe !Xl 2,000
405 RHaHE SH 5,400 5,400
01 ML ESFSHI 5,400 5,400
O2&2ela §X 440,000 *5H4 2,200
O2&8|2 Xt 100,000 = 107H 1,000
O3sZZ Al oloid 2,200
fclsdl =25 g9 29 22,797 22,347 450
101 el24d| 21,511 20,974 537
M IRRZZENSES 21,511 20,974 537
(@)1= acibal:] 21,013
—Ql 21| 90,8003 x2H »83 15,073
—= 23X =¢ 90,8003 x2H»21 3,814
—=0l0Z 23 18,887 ,0002!+4. 5% 850
—2e2AY 2e3 18,887 , 000 +3..545% 670
—ToIE)IRY 23
670,000& *12.81% 86
—1s28 18,887,000 1.75% 331
—&THEE 18,887,000& * 1% 189
Ogaltt 2talt| 3,000& x2&»83& 498
201 Let=3H| 411 411
01 AtR22t2|b] 411 411
OtdEA 2teld| 211
—NEE(REEY, 0tAT &)
2,000 +2H+832*1/3 11
— AT HL=SS (8=, . A22
NS 100
O EIIAl ==clHl 50,0003 *4CH 200
206 M=l 875 1,373 2498
01 =4 875 1,373 A498
Oogos= 35,0002 +0.1 £ x2H*1253] 875
HY2APHI(ZH2S) 75,145 70,366 4,779
[=22H(g&28) 75,145 70,366 4,779
Jl23HI(g&2s) 75,145 70,366 4,779
201 Ler=23H| 36,993 34,750 2,243
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- B2 ER(3) - NRA - BAS Ofl st e HIDS
01 AtR22t2|b] 19,308 15,928 3,380
ORM2Y JIZ2+=&H| 2,500
O=AEX 1,000
Ongly 2= 6,000
—ZgH &Y 3,000
—ZolZell &Y 3,000
OEE& &=9% M& 70,0002 2004 1,400
otlegr=g 420
OXE =gl 8,000 x13&+641x 122 7,488
OgZ&EHIE Ot 500
—0tH & 5003 +5001+ 122 300
—S& M 200
02 3=l 17,685 18,822 21,137
OoRER=s 3,600
OdJIe= 800,000& *12& 9,600
O - ot=Ee23 150,000 » 128 1,800
OYRE U NUSIHAI(2A2XH, HIIRH) 129
OYgRE 1 BE= (28X, JIIX) 2,020
Ool24 AHAOIEN =458 106
O&stx 4 =2 350
O&JIMa o B 80
202 o4t 27,552 25,536 2,016
01 oI 27,562 25.5% 2,016
O: B SO
20,0003 12 *142*122 0.6 24,192
OEAMULIN S&0YI
20,0002 x 12+ 14« 122 3,360
203 =] 10,120 10,080 40
01 V|22 RFa| 6,600 6,600 0
os# 6,600,000 1% 6,600
02 ROt 2| 520 480 40
OFBItAHE 2| 40,0003 13 520
04 FA2EYERFAYI 3,000 3,000 0
ORAN2ZYRFaH| 250,000 x 122 3,000
405 RHaHE SH 480 480
01 THME =S FISHI 480 480
Oges Zelf 480,000 *1CH 480

- 597 -




